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General Instructions:  

1. Duration of Test is 90 minutes and Question Paper contains 60 Questions with maximum 60 marks.  

2. Use of gadgets is not allowed.  

3. Student should abide by the instructions issued during the examination by the invigilator or the centre 

incharge. 

4. Before attempting the question paper ensure that it contains all the pages and that no question is 

missing. 

5. There is No Negative marking. 

        
 

 

 

 

 

EVS (20 Marks) 
 

Tick the correct answer:-  

Q1. Which of the following is soluble in water? 

(a) Stone   (b) Salt   (c) Sand   (d) Rice 

Q2. Which of the following is a non- green plant? 

(a) Cactus   (b) Croton  (c) Neem   (d) Mango 

Q3. The young one of a frog is called ________ 

(a) Tadpole   (b) larva  (c) Maggot   (d) Caterpillar 

Q4. Carnivorous have well developed. 

(a) Biting teeth  (b) Tearing teeth (c) Chewing teeth  (d) Both a and b 
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Q5.  Which of the following groups of animals give birth to young ones? 

(a) Reptiles    (b) Amphibians (c) Mammals   (d) Birds 

Q6. Digestion starts in this part of the digestive system. 

(a) Mouth   (b) Large intestine (c) Stomach   (d) Small intestine 

Q7. The organ system responsible for the respiration is __________. 

(a) Digestive   (b) Excretory  (c) Circulatory   (d) Respiratory 

Q8. This is the largest and fastest spinning planet. 

(a) Uranus   (b) Neptune  (c) Venus   (d) Jupiter 

Q9. Which of the following is not a way of purifying water? 

(a) Sedimentation  (b) Chlorination (c) Filtration   (d) Cooling 

Q10. The fixed path on which earth moves around the sun is called_________. 

(a) Satellite   (b) Orbit  (c) Constellation  (d) Pathway 

Q11. Polluted water can cause diseases like ________ and _____ in human beings. 

(a) Malaria and dengue   (b) Diarrhoea and typhoid 

(c) Hearing and blood pressure  (d) none of these 

Q12. This is the part of a leaf that attaches the leaf to the stem. 

(a) Stalk   (b) Midrib  (c) Vein   (d) Leaf blade 

Q13. Plants that live on other plants and get all their food from them are called ______. 

(a) Saprophytic  (b) Parasitic  (c) Insectivorous  (d) None of these 

Q14. These animals have a layer of fat, called blubber, to protect against cold. 

(a) Polar bears   (b) Birds  (c) Snakes   (d) Frogs 

Q15. Sugar and starch are two types of 

(a) Fats   (b) Vitamins  (c) Carbohydrates  (d) Proteins 

Q16. Frosted glass and tracing paper are _________. 

(a) Transparent  (b) Translucent (c) Opaque             (d) Both (a) and (b)  

Q17. The pouch like organ that stores urine is the  

(a) Urethra   (b) Urinary bladder (c) Ureter   (d) Kidney  

Q18. The process of water changing into water vapour is called _________. 

(a) Precipitation  (b) Humidity  (c) Evaporation  (d) Condensation 

Q19. Orion and Ursa Major are examples of these. 

(a) Constellations  (b) Satellites  (c) Meteors   (d) Asteroids 
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Q20. These are known as body- building food. 

(a) Proteins   (b) Vitamins  (c) Minerals   (d) Fats  

 

ENGLISH (20 Marks) 
 

Read the passage and answer the questions. (Direction Q21 – Q24) 

Ants are insects that are found everywhere. In a colony there are three types of ants. These are the 

queen, the males and the female workers. A colony can also have more than one queen. The male 

ants and the queen have wings, but workers don’t. Soldier ants protect the queen and the colony. 

Q21.  Who has wings in the colony of ants? 

(a) male ants     (b) the queen     (c) soldier ants   (d) both a and b 

Q22.  Find the synonym for 'guard ' from the passage.  

(a) wings     (b) colony      (c)  protect    (d) insects  

Q23.  Choose the abstract noun among the given options.  

(a) useless     (b) useful     (c)  grief   (d) chief 

Q24.  Choose the plural noun for ' Goose' 

(a) gander     (b) geese     (c) gooses    (d) verses 

Q25.      Neuter gender stands for : 

(a) males    (b) non living things    (c) females     (d)  both a and c 

Q26.  Tick the masculine gender for 'Bee'. 

(a) bees     (b) fly      (c) drone    (d)  none of these. 

Q27.  ______ pronouns are used to point a specific person, place or thing. 

(a) personal pronouns     (b)reflexive pronouns  

(c) possessive  pronouns    (d)demonstrative pronouns  

Q28.  Fill in the blank with suitable  pronoun.  

She bought this bag yesterday. This is __.  

(a) mine    (b) yours     (c) hers    (d) his 

Q29. Fill in the blank with appropriate adjective.  

Rohit is as  ____ as his elder brother.  

(a) smarter   (b) smartest    (c) smart     (d) more smart  
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Q30.  Select the type of the underlined verb.   

Mr. Gavin is the new marketing manager of HBS Corp. 

(a)  linking verb  (b) helping  verb   (c) action verb   (d)noun of these  

Q31.  His father arrived last night. The underlined word is an/a  ____. 

(a) transitive verb        (b) intransitive  verb     (c)  linking verb   (d) none of these. 

Q32.  Fill in the blank with suitable articles. 

I saw____ one eyed man in the market.  

(a) a      (b) an     (c) the      (d) none of these.  

Q33.  He seldom goes to movies on weekends. The underlined word is the adverb of____. 

(a) manner     (b)frequency     (c) time    (d) place 

Q34.  Fill in the blank with appropriate preposition.  

The lion sprang ___ its prey. 

(a) on    (b) over      (c) upon   (d)above 

Q35.  ____are the words with same sounds but different meaning and spelling.  

(a) Antonyms   (b) Homophones   (c) Synonyms   (d) None of these. 

Q36.  Select the synonym for the given word ' Answer'. 

(a) investigate    (b)ask    (c)respond   (d)question  

Q37.  Tick the antonym for ‘Wide'. 

(a) hide    (b)narrow     (c)sorrow    (d)none of these. 

Q38.  Fill in the blank by changing the given verb in simple past tense. 

We ___ the birthday party yesterday. (enjoy)  

(a) enjoy    (b) enjoying     (c) enjoyed    (d) none of these.  

Q39.  Fill in blank by changing the given verb in past continuous tense. 

The farmer ____ the field that day. ( dig) 

(a) was digging   (b) is digging     (c) dig     (d)dug 

Q40.   Fill in the blank  with  coordinating conjunction.  

He worked really hard to pass the test __ he failed. 

(a) for    (b)yet     (c) and    (d)so 
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MATHEMATICS (20 Marks) 

 

Q41. The greatest number amongst the following is . 

 (a) 9,28,400  (b) 7,25,146   (c) 9,00,009   (d) 9,99,999 

Q42. The successor of Ninety-nine thousand nine hundred ninety-nine is __________. 

(a) 1,00,000  (b) 99,998   (c) 1,00,001  (d) none of these  

Q43. Roman Symbol M stands for__________. 

(a) 500  (b) 1000   (c) 100   (d) 300 

Q44. The numbers to be added are called the _________. 

(a) Subtrahend (b) Addends   (c) Minuend  (d) Sum 

Q45. The sum of two numbers is 4,34,894. One of the number is 3,41,057. Find the other number. 

(a) 1,93,837  (b) 93,837   (c) 93,873  (d) none of these 

Q46. Which among the following is the greatest prime number less than 100? 

(a) 83   (b) 97    (c) 89   (d) 87 

Q47. What shape is observed on seeing a dice from the top? 

(a) Square  (b) Rectangle   (c) Circle  (d) Triangle 

Q48. The decimal representation for 5 
𝟕

𝟏𝟎
 is. 

(a) 5.7   (b) 5.07   (c) 57.0  (d) 0.57 

Q49. If the diameter of a circle is 4.6 cm, its radius will be. 

(a) 3.2 cm  (b) 4.6 cm   (c) 9.2 cm  (d) 2.3 cm 

Q50. 1000 g + 500 g is equal to  _________.  

(a) 1.5 kg  (b) 105 kg   (c) 1500 g  (d) both a and c  

Q51. Which of the following is the formula used for finding the area of a square? 

(a) Side + Side (b) Side × Side  (c) Side ÷ Side  (d) None of these 

Q52. What time will it be 3 hours after 12:30 am? 

(a) 3:30 pm  (b) 3:30 am   (c) 3:00 pm  (d) 3:00 am 

Q53. The greatest 5-digit number formed using the digits 3,9,0,3 and 1 is. 

(a) 39,310  (b) 93,100   (c) 93,310  (d) 99,310 

Q54. XC- XL is equal to ____________. 

(a) L   (b) XC    (c) CL   (d) LX 
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Q55. 10,000 added 5 times gives. 

(a) 50,000  (b) 5,000   (c) 5   (d) 50 

Q56. What is the product of 31×0×22? 

(a) 683  (b) 681    (c) 0   (d) 682 

Q57. The product of two numbers is 56. If the first number is 8, then the second number. 

(a) 9   (b) 8    (c) 6   (d) 7 

Q58. The next number will be in the series is. 

 17, 22, 27, 32 , ______  

(a) 33   (b) 37    (c) 38   (d) 39 

Q59. Nitya wants to put a band around her wrist. For that she needs to know the _____of the wrist. 

(a) area   (b) perimeter   (c) weight  (d) volume 

Q60. The number divisible by both 5 and 10 is. 

(a) 5005  (b) 4320   (c) 7505  (d) 2022 

 

 

 

 

 

 

 

 

 

 

 

 



 
 

  SPACE FOR ROUGH WORK 

  



 
 

 


